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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %

1 379 4.5 0.8 5 89.8 99.7
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.


2. You will be assessed on the quality of your written communication in this question.

The two spinners are spun.
The score is the total of the two numbers shown on the spinners.
The score shown above is eight.

There are two different game cards, card A and card B.

A game is played, crossing out the scores from the spinners on the game card as the spinners
are spun repeatedly.

The first game card with all four scores crossed out is the winning card.

Game card A

3 2
9 10

Game card B

4 6
5 7

Which game card is more likely to be the winning card?
You must show your working and give a reason for your answer. [6]
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Which game card is more likely to be the winning card?
You must show your workingsand give a reason for your answer. [6]
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2. You will be assessed on the quality of your written communication in this question.

The two spinners are spun.
The score is the total of the two numbers shown on the spinners.
The score shown above is eight.
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Sticky Note
The candidate writes two combinations for each score

Sticky Note
The candidate writes one combination for each score

Sticky Note
The candidate has not worked systematically to find all possible combinations
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Sticky Note
Appropriate conclusion for their findings.  Shame they had not found all combinations, however there is sufficient evidence to draw a conclusion.
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Examiner

You will be assessed on the quality of your written communication in this question.

The two spinners are spun.
The score is the total of the two numbers shown on the spinners.
The score shown above is eight.

There are two different game cards, card A and card B.

A game is played, crossing out the scores from the spinners on the game card as the spinners
are spun repeatedly.

The first game card with all four scores crossed out is the winning card.

Game card A

3 2
9 10

Game card B

4 6
5 7

Which game card is more likely to be the winning card?
You must show your working and give a reason for your answer. ; [6]
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2.

You will be assessed on the quality of your written communication in this question.
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Sticky Note
Spelling - probably 

Sticky Note
Spelling - likely

Sticky Note
Layout appropriate 

Sticky Note
25 possible outcomes is correct, but they are not shown

Sticky Note
At least 2 combinations for each score on card B

Sticky Note
One correct combination for each score on card A


5

=
MWW ROR\e Vg DIMAeer-
MAC  OS. 0. Caxd VM W\

Q8 oS VRS Wi Wage & (3

o Yeler Oaese ol NMWbeys  FOT

T

=]

o

=

© WJEC CBAC Ltd. (4363-02) Turn over.

e

Que,



Sticky Note
Spelling - choice

Sticky Note
Spelling - equal

Sticky Note
Layout is appropriate, but there are a number of spelling errors, this is a decision between QWC0 or QWC1.  On balance the presentation of the combinations labeled with the attempt to describe and conclude allows the award of QWC1, as a borderline decision.

Sticky Note
Conclusion is correct, card B, but the reasoning is not correct.  Hence, a generous E mark, but satisfies the mark scheme requirement


6.

State whether the following statements are true or false.
You must give a reason for each of your answers.

(@ “All prime numbers have more than two factors." [2]
True or False? ...,

(b) “All square numbers have an odd number of factors.” [2]
True or False? ...,
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Sticky Note
The misunderstanding simplifies the question, to simply odd and even numbers, hence no marks are awarded.

Sticky Note
Layout is appropriate, but there are a number of spelling errors, this is a decision between QWC0 or QWC1.  On balance the presentation of the combinations labelled with the attempt to describe and conclude allows the award of QWC1, as a borderline decision.


(b) All square numbers have an odd of factors.” &l
True or Faise?_1-0.\$Q




(b) "All square numbers have an odd mnlr-offocfom‘ (2]
True or Faise? |-0.\SQ



Sticky Note
However, 1 mark is awarded for listing of correct factors for 2 square numbers

Sticky Note
Shows understanding of the question, looking a factors

Sticky Note
The ‘double’ counting of 4 and 3 in these examples leads to an incorrect response.
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A B C
® ® ®
Diagram not drawn to scale
ABC is a straight line, AB:BC is 3:8 and the length of BC = 36cm.
Calculate the length of AC. [3]
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Diagram not drawn to scale

ABC is a straight line, AB:BC is 3:8 and the length of BC = 36.cm,

Calculate the length of AC.
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Diagram not drawn to scale

ABC is a straight line, AB:BC is 3:8 and the length of BC = 36cm.
Calculate the length of AC.
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Sticky Note
The method is incomplete, the working shows calculation towards AB, not AC.  Not labelling has may be confused the candidate, hence no method mark is awarded.
Had 36cm been added to their AB, a method mark could have been awarded.
Obviously it would have led to A0.

Sticky Note
Shows understanding of the proportions, hence S1, irrespective of the error in division


Diagram not drawn to scale

lP)

ABC is a straight line, AB:BC is 3:8 and the length of BC = 36cm.
Calculate the length of AC. =N ) [3]
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Diagram not drawn to scale

=

ABC is a straight line, AB:BC is 3:8 and the length of BC = 36cm.

Calculate the length of AC. N-A [3]
26 36
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Sticky Note
AC = 36 + AC
This candidate has not demonstrated a complete method,
hence, M0, A0.

Sticky Note
This is not AC, it is AB.

Sticky Note
Shows understanding of proportion.
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UNIT 1 (HIGHER TIER)

Methods in Mathematics

June 2014 Unit 2 Higher Tier Mark Comment
2. Accept embedded answers in parts (a), (b) & (c)
(@) (x=)10x8/5 M1
x =16 Al
(b) (x=)4 Bl Mark final answer. Do not accept 28/7
(c) 18x — 102 = 42 OR  3x-17=42/6 Bl | FT until 2" error
18x = 144 3x=24 or x=24/3 Bl
x=8 Bl
(d) 9x<77-5 M1 | No marks for use of “=", unless finally replaced to
X<8 Al give x<8 then award M1 Al.
SC1 for x<82/9 ISW
(e) x<85/5 orx< 17 M1 Or sight of 5x16 = 80 with 5x17 =85
16 Al Accept unsupported 16, or a unique answer of 16
from a trial and improvement method. Do not
accept x<16.
SC1 for sight of 5x = 85, x = 17 followed by
10 selecting x =16
5
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Methods in Mathematics

June 2014 Unit 2 Higher Tier Mark Comment
6. Sight of any quotient using values from the table for M1 Or sight of 1 correct response, or answers reversed
a/b or b/a
a=25xb Al | Orequivalent
b=04xa Al | Orequivalent
3 FTfroma=04xbtogiveb=25xa
6
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Methods in Mathematics

June 2014 Unit 2 Higher Tier Mark Comment
8. ldea to show or use the perpendicular height in a S1 Award for statement such as ‘6(cm) is not the
right angled triangle vertical height’
Height = sin58° x 6 M2 M1 for sin58° = Height/6
=5(.088...cm) Al
Area = 5(.088...)x 10 M1 FT their 5(.088...cm) provided prior M1 awarded
or an attempt has been made to use a trig ratio
=50.9(cm?) or 51(cm?) Al Must be rounded. Do not accept 50.8 or 50 (from
premature approximation). FT from M1
If S1 only, then use of spurious perpendicular
height <6, then also award SC1 for their
perpendicular height x10 correctly evaluated
Alternative:
Use of ¥z absinC S1
2 x Y% x 6 x 10 x sin 58° M3
or M2 for %2 x 6 x 10 x sin 58°
50.9(cm?) or 51(cm?) A2
6 or Al for calculating % required area
7
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